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Qwihwpwdhu 1: Fudwu wnwplyw § hwunhuwund' bEyunpuywt uungdwt wwpwqwubp/ L5%, Hpwydtp/ 6 4US ¢

<pwybph <pwybph
Uwul wwhwugubtpht wwhwugubtphtu
wutwgh hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwéd
UwutwYyhgubphp Uwutilgh dwutiwlyhg Uwutiwlygh wnwowpywé
qpunbgpws T /punpywd qht
wnbknkpp dwutwygh /wnwug UKL, hwq. npud/
hwdwp ugk) “X”/
1 Luyp puny Unp UNC -
2 Eyndhpu UNLC 41,58
3 Qhytn UNLC X 10,42

Cunpywd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhy' uuquagnyu ghu:




Qwihwpwdht 2: Fudwt wnwplw b hwunhuwund® Bsunpwywi vumgdwt wwpwgwubp/ L%, Fpwydtn/ 18 4US :

<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjws
Uwut ub Juutiwlhg Uwutw wnwowplwé
wutiwyhgubiph U wutiwlgh /punnywsd lgh wnwgwny
qpuntgpwé qhl
inbink whiuitinuip Hwubuligh | /o g UCE, huig. npuns/
nepp hwdwp tob 9 » hwq. np
“x"/
1 Luyp puny dnp UNC -
2 Eyndhpu UNLC 62,42
3 Qhytn UNLC X 20,83
Cunpywsd Jwutwlyght npnabne hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdhu 3: Fudwu wnwplw § hwunhuwund' fEgunpwlw uungdwt wwpwqutn/ L6, wdtip/ 24 4US
<pwybph <pwybiph
wwhwugubtpht wwhwugubphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywwnwupuwung | Luhwdwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
Qhuytn UMNLC X
Cunpjwé
Uwutiwygh
Uz:zl::gggiinh Uwutwlgh j&lﬁmﬁg wnwowplwé ghu
wuywuntdp /wnwug UKL, hwgq.
wbintpp dwutwlygh Wi/
hwdwp ok “X”/ i
1 Luyp puny dnp UNC -
2 Eyndhpu UNLC 83,25
3 Qhytn UNLC X 25,00

Cunpywd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuwquagnyu ghu:

Quihwpwdhu 4: Fudwu wnwplw £ hwunhuwund® fhyopwlwu vungdwt wwpwqwbn/ L%, pwydtn/ 484US :
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<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pun Unp UNC X
2 Elyndhpu UNLC X
Qhytn UNLC X
Cunpjwé
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwlygh wnwowplyws
qpunbgpusé qhu
bk whiuitinuip Huutiwligh /o g UCE, huq. npud/
wnGntpp hwdwp ok wnuwug » hwq. np
“X?)/
1 Luyp pun dnp UNC -
2 Elyndhpu UNC 177,00
3 Qhytn UNLC X 33,33
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdht 5: Fudwu wnwplyw § hwunpuwund® (nuwghp 60*10
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphtu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwéd
Uwutiwygh
Uwutiwlyhgubphp Uwutiwygh dwutwlyhg wnwownlwsé qht
qpwnbgpwé /punpqwd
wuyjwunidp /wnwiug UKL, hwq.
wmbnbpp dwutwlygh hwdwp Wi/
tghiy “X”/ w
1 Luyp puny dnp UNC -
2 Eyndhpu UNLC X 305,83
3 Qhytn UNLC 375,00

Cunpywd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhy' uuquagnyu ghu:

Quihwpwdhu 6: Fudwu wnwplw § hwunhuwund' (nwwghp 120%10:




<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pun Unp UNC X
2 EYyndhpu UNLC X
3 Qhytn UNLC X
Uwutiwygh
Uwubwghg'ullph Uwutwlygh [/:T;m}{tlg ﬂmtzmﬂhﬁ wnwowplwé qgh
qp;lhl‘[ é]l“u wuyjwunidp L hwndw ok “X”/g /wnwiug UKL, hwq.
nspp n b2b| npwd/
1 Luyp pung Unp UNC -
2 Elynuhpu UNLC X 518,75
3 Qhytn UNLC 750,00
Cunpywd dwutwlyght npngbint hwdwp Yhpwndwsd swihwuhy' uuquagnyu ght:
Quihwpwdht 7: Fudwt wnwplw b hwunhuwund® gipbluwihtu jwdwy 60ud :
<pwybph <pwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uoby “X”/ nbwpnud uob “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhwytn UNLC X
Cunpjwé
Uwutiwygh
Uwutiwlyhgubphp Uwutilgh dwutwlhg wnwownlws ght
qpwnbtgpwé /punpqwd
wuyjwunidp /wnwiug UKL, hwq.
wmbnbkpp dwutwlygh hwdwp wi/
U2[I|_ uxn/ rl'r'
1 Luyp pun Unp UNC X 35,70
2 Eyndhpu UNLC 39,10
3 Qhytn UNLC 70,83

Cunpywd Jwutiwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdht 8: Fudwl wnwplw b hwunhuwund' gbiptluwjhtu (wdw 120ud




<pwybph <pwybiph
Uwutiwlgh wwhwugubphu wwhwugubkphu
9 hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UNLC X
Cunpjws
dwutwlhg
Uwutwlyhgub Uwutw wnwowplwd
qurll':gl;gwbph U wutwlgh /nunpwd LIQI:}hh guinl
inbink witiduitnidp Hwubuligh |/ g UCE, huig. npud/
ntupp hwdwp ok ) » hwq. np
“x"/
1 Luyp pun Unp UNC 134,55
2 Eynuhpu UNC X 60,57
3 Qhytn UNLC 134,17
Cunpywd dwutwlyght npngbint hwdwp Yhpwndws swihwuhy' uuquagnyu ghu:
Quihwpwdht 9: Fudwu wnwplw & hwunhuwund' denwnw hwingbuwiht jwdw, 1504w :
<pwybph <pwybiph
U wubiw wwhwugubphu wwhwugubphu
ligh hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
1 | Luyp pug dnp UNC X
Eyndhpu UNLC X
3 Qhwytn UNLC X
Cunpjwé
dwutwyhg
U wutwlyhgub Uwutiw wnwowplwé
. L‘hgwé"h U wutiulgh /punpyuws igh 1t punl
¥ bt whiduitinuip dusdwoh | e 128, hug, ppud/
nepp hwdwp toh g9 » hwq. np
HXH/
1 Luyp puny dnp UNC -
2 Eyndhpu UNLC X 162,17
3 Qhytn UNLC 166,67

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdhu 10: Fudwu wnwplw § hwunhuwund'jwdy' dEnwinhwingbuwht, 250 Y, E40, 220 4




<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pun Unp UNC X
2 EYyndhpu UNLC X
3 Qhuytn UNLC X
Cunpjws
dwutwlhg
Uwuhwll:hghllph Uwutiwygh /punpyws Uwutwygh u;lnwgwplqwb
qpunbgpuw udwiined Jwub qh
wbnbtpp wijuitnudp wuliwlgh /wnwug UKL, hwq. npwd/
hwdwp ugk) ’
“x"/
1 Luyp puny Unp UNC -
2 Eyndhpu UNLC X 129,73
3 Qhytn UNLC 160,0
Cunpywd dwutwlyght npngbint hwdwp Yhpwndws swihwuhy' uuquagnyu ghu:
Quihwpwdhu 11: Fudwu wnwplw § hwunhuwundjwdwy' dGnwnhwingbuwhu, 400 4w, E40, 220 4
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNL X
3 Qhwytn UNLC X
Cunpjwé
dwutiwyhg
Uwuhwll:hghllph Uwutiwygh /punnuws Uwutwygh u:‘nwgwpluué
qpunbtgpuw udwined Jwub qh
wmbnbkpp wijuwnudp wutwbgh /wnwug UKL, hwq. npwd/
hwdwp ugk) ’ ’
HXH/
1 Luyp puny dnp UNC -
2 Eyndhpu UNLC X 81,08
3 Qhuytn UNLC 112,50

Cunpqwsd Jwutiwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdhu 12: Fudwt wnwplw b hwunhuwund' jwdy' Eynund, 8 dw, 80 dd, E27, 220 U :




<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Elyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwéd
Uwutwlyhgub dwutiw Uwutiw wnwownljwéd
ll:hg énh Uwutiwlgh Py llhg lgh A puiny
ANt wuywuntdp puunnyu gh
wnbknkpp dwutiwlygh /wnwug UKL, hwq. npud/
hwdwp ugh “X”/
1 Lwyp pun dnp UNC 22,59
2 Eyndhpu UNC X 1,17
3 Qhytn UNLC 14,58
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdht 13: Fudwu wnwplw § hwunhuwund' wdy' tynund, 20 d, 110 44, E27, 220 4 :
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UMNLC X
Cunpjwé
dwutiwyhg
Uwutwlyhgubph Uwutiwygh /punnuws Uwutwlygh wnwowplwé
qpwntgpué qht
bink witiuitinudp dwublgh 1 g UCE, huig. npuwd/
wnGntpp hwdwp toh g9 » hwq. np
HXH/
1 Luyp pun Unp UNLC 20,00
2 Eyndhpu UNLC X 1,17
3 Qhuytn UNC 20,83

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:




Quihwpwdhu 14: Fudwt wnwplw b hwunhuwund® jwiy' Eynund, 40 dwn, 190 dd, E27, 220 4

<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pun Unp UNC X
2 Elyndhpu UNLC X
3 Qhuytn UNLC X
Cunpjwéd
dwutwyhg
Uwul'(:lwll:hg:lllph Uwutiwygh /punnyws Uwutwlygh 'l:;‘nwgwpqwb
clpml:l l?n wlijuitinudp —— /wnwt U.<t hw wd/
ntupp hwdwp ok 9 » hwq. np
“x"/
1 Luyp pun dnp UNC -
2 Eyndhpu UNC X 117
3 Qhytn UNLC 27,08
Cunpywd Jwutwlyght npnabint hwdwp Yhpwndwsd swihwuhy' uuquagnyu ghu:
Qwihwpwdhu 15: Fudwu wnwplw £ hwunhuwunud® jwdy' Eynund, 75 Y, 230 b4, E27, 220 4 :
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwiwwywwmwuluwunn | shwdwwywunwupuwung | Luhwdwwywunwujuwuniejwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 | Luyp pug Unp UNLC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwé
dwutiwlhg
Uwul'(:llughglt:lllph Uwutiwygh /punnywd Uwutiwygh tl:.;:w.lgl,unl|wé
W bt whiuitinuip Susdbwloh | e 4S8, hug, R/
ntepp hwdwp tob g9 » hwq. np
“XY)/

Lwyjpe pun dnp UNC




2

Eyndhpu UNC

81,08

3

Qhuytn UNLC

106,25

Cunpywd Jwutwlght npnabint hwdwp Yhpwndwsd swihwuhy' uwquagnyu ghu:

Quihwpwdhu 16: Fudwu wnwplw § hwunhuwund' wiy' Eynund, 95 dwn, 260 d4,E27, 220 4 :

<pwytph <pwytph
Uwul wwhwugubphu wwhwugubkphu
¢/ w:‘:w:lnlllgh hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
o hwjwinbp hwjwnbp hwdwnnun uwpwgpnypnLu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibnt
nGwpnid ugk “X”/ nGwpnid uok “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjws
dwutwyhg
U wutiwyhgut Uwutiw wnwowplwd
qurlllilggwbnh Uwutiwlgh /punpqwd qgi:}hh guiny
wuyjwunidp dwutwlygh
wbnbtpp hwdwn ohiy /wnwug UKL, hwq. npwd/
“x"/
1 Luwyp pun dnp UNC -
2 Eyndhpu UNLC X 97,75
3 Qhytn UNLC 118,75
Cunpywd Jwutiwlyght npnabint hwdwp Yhpwndwd swihwuhy' uuquagnyu ghu:
Qwihwpwdhu 17: Fudwl wnwplw b hwunhuwund' gbuopwluwu wdy, 60W, 80W, 100W
<pwytph <pwytph
Uwul wwhwugubtpht wwhwugubtphtu
¢/ w'(l:llrwtl:‘nlll?ih hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
e hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UMNLC X
Cunpjwé
dwutiwyhg
Uwutiwlhgub Uwutw wnwowpljud
quqgggwé"h U wutiulgh /punpyws qu:;hu guinl
wuyjwundp dwutiwlygh
wmbnbkpp hwidw tgb /wnwug UKL, hwq. npwd/
“X”/
1 Luyp pun Unp UNLC 158,34




2

Eyndhpu UNC

97,00

3

Qhytn UNLC

200,00

Cunpywd Jwutwlyghu npnabint hwdwp Yhpwnwd swihwuhy' uwquagnyu ghu:

Quihwpwdhu 18: Fudwu wnwplyw § hwunhuwund'

EiEyunpwlwu ohlwgdwu jwdwbp/ LGY, Yinp, 3 4US,/

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwdwywwwuppwunn | shwiwywunwufuwuny | Luhwdwywwnwupuwunipjwu
</< wujwunwdp h
wjwnbip hwjwnbp hwdwnnun uwpwgpnypnLu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibnt
nGwpnid uok “X”/ nGwpnid uok “X”/
1 | Luyp pun Unp UNC X
2 EYyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwsd
UwutwYyhgub dwutiw Uwutw wnwowplwé
Llhg e,nh Uwutiwlgh Py llhél ligh . guipy
qpwnbgnw whwitinudp puwnnyw gh
wmbntpp dwutwygh /wnwiug UKL, hwq. npud/
hwdwp ugky “X”/
1 Luyp puy Unp UNC -
2 Eyndhpu UNC X 9,97
3 Qhytn UNLC 12,0
Cunpywd Jwutwlyght npnabint hwdwp Yhpwndwsd swihwuhy' uuquagnyu ghu:
Qwihwpwdht 19: Fudwu wnwplw § hwunhuwund' bslunpwywt shlwgdwt wdwbp/ LY, Yinp, 9 4US,/
<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwwywwmwufluwunn | shwdwwywwnwuluwung | Luhwdwywunwujuwuniejwu
</< wujwunwdip h
wjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 | Luyp pug Unp UNC X
2 Eynuhpu UNLC X
3 Qhuytn UNLC X

10




Lunpywé
dwutiwlyhg
inbink witiuitinidp dwubuligh |/ g UCE, hug. npud/
nbpp huitun Uk, g ULS, hug. np
“X”/
1 Luyp pun Unp UNC 30,0
2 Eyndhpu UNC 17,47
3 Qhytn UNLC X 16,67

Cunpywd dwutwlyght npngbint hwdwp Yhpwndwsd swihwuhy' uuquagnyu ghu:

Qwihwpwdhu 20: Fudwu wnwplw b hwunhuwuntd® blunpuywl shlwgdwt wdwbp/ LY, Yinp, 124US,/

<pwytph <pwytph
Uwul wwhwugubtpht wwhwugubtphtu
wutwgh hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpwéd
dwutiwlyhg
U wutiwyhgut Uwutiw wnwowplwd
. Ehgm 6"" U wutiwlgh /putnnywsd igh b gunly
¥ bt wliutinuip duadbligh | U€E, hug, npwd/
nspp hwdwp gk g9 » hwq. np
“XY)/

1 Luyp pun Unp UNC 37,0

2 Eyndhpu UNC X 17,47

3 Qhuytn UMNLC 19,17

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdhu 21: Fudwt wnwplw b hwunhuwuntd' falunpwlwu shlwgdwt wdwtp/ L6, Yiap, 15 4US,/
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<pwybph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Elyndhpu UNLC X
3 Qhytn UNLC X
Cunpjwéd
dwutwyhg
Uwuhwll:hghllph Uwutiwygh /punpyws Uwutwlygh u;‘nwgwpqwb
qpul:ll:l 3[‘“‘ wijuitnudp Jwutiulygh /wnwt U.<q&h hw wd/
ntupp hwdwp gk 9 » hwq. np
“X?)/
1 Luwyp pun Unp UNC -
2 Eyndhpu UNLC 22,05
3 Qhytn UNLC X 21,67
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Qwihwpwdhu 22: Fudwu wnwplw £ hwunhuwund'  blupwywt shwgdw wdwtp/ LY, Yinp, 18 4US,/
<pwybph <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwujuwuniejwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugb “X”/
1 | Luyp pug Unp UNLC X
2 Eyndhpu UNLC X
3 Qhuytn UMNLC X
Cunpjwé
dwutiwyhg
Uwuhwll:hghllph Uwutiwygh /punnuws Uwutwlygh tl::‘nwgwpllwé
Y bnbnn whiduitinuip Swsdbwloh | e 128, hug, ppu/
wnGntpp hwdwp ok g9 » hwq. np
“X”/

12




Lwype pun dnp UNC

Eyndhpu UNLC

22,05

3

Qhytn UNLC

25,00

Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdht 23: Fudwu wnwplw § hwunhuwund' bEGnpwlw shwgdwt wdwbp/ L%, pwnwynwh, 34US/:

<pwybiph <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UNLC X
Cunpjwéd
dwutwyhg
Uwuhwll:hghllph Uwutiwygh /punnyws Uwutwlygh u;lnwgwpqwé
qp:nul:l l?l“u wijuwnudp Jwutiulygh /wnwt U.<c2h hw wd/
nepp hwdwp gk 9 » hwq. np
“x"/
1 Luyp pug dnp UNC -
2 Eyndhpu UNLC X 9,97
3 Qhytn UNLC 12,50
Cunpywd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhy' uuquagnyu ghu:
Quithwpwdhtu 24: Fudwu wnwpyw § hwunhuwuntd fsyunpwywt shwgdwt wdwbp/ LEY, pwnwlnih, 94US
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdp h
wjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 | Luyp pug dnp UNC X
2 Elyndhpu UNC X
3 Qhuytn UNLC X
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Cunpjwsd

Uwutwyhgubph Uwutiulgh dwutiwyhg Uwutwlygh wnwowpyws

qpwnbtgpwé wnqwum?r /puinpywd qht
wmbntpp L dwutiwlygh /wnwiug UKL, hwq. npud/

hwdwp ugk) “X”/

1 Luyp pun Unp UNC 30,0

2 Eyndhpu UNLC 17,47

3 Qhytn UNLC X 15,42

Cunpywd Jwutwlyghu npnabint hwdwp Yhpwnwd swihwuhy' uwquagnyu ghu:

Quithwpwdhtu 25: Fudwt wnwplw b hwunhuwunud baynpulwi shjwgdwt wdwtp/ LY, punwynwh, 124US

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphtu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 | Luyp pun Unp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpwéd
dwutiwlyhg
Uwult:lwghg:lllph Uwutiwygh /punngwd Uwutiwygh Il::lnwgwpqwé
il whiuitinuip Susdbwloh | e 4SS, hug, R/
wnGntpp hwdwp ok 9 » hwq. np
“X?)/
1 Lwyp puy Unp UL 37,00
2 Elyndhpu UNLC X 17,47
3 Qhytn UNLC 18,33
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdhu 26: Fudwl wnwplw b hwunhuwund' bEyunpuywy shywgdwt jwdwbp/ L%, pwnwynwh, 154US
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdip h
wjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UNLC X
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Lunpjwé
dwutiwlyhg
inbink witiuitinidp dwubuligh |/ g UCE, hug. npud/
nbpp huitun Uk, g U<S, hwig. np
“X”/

1 Luyp pun dnp UNC -
2 Eyndhpu UNLC 22,05
3 Shuykn UNC X 20,83

Cunpywd Jwutwlyghu npnabint hwdwp Yhpwnwd swihwuhy' uwquagnyu ghu:

Quihwpwdhu 27: Fudwt wnwplw b hwunhuwuntd' falunpulwt shlwgdwt jwdytp/ L%, pwnwnwh, 184US :

<pwybph <pwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwujuwunipjwu
</€ wuywunudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjws
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd U wutiwlygh wnwowpyws
qpuntgpué udwtntd Jwub qhl
nbinbpp wliguitinudp wubwlgh | 0 g UCE, huwq. npwd/
hwdwp gk ’
“X?)/
1 Luyp puny unp UNC -
2 Eyndhpu UNLC X 22,05
3 Qhytn UNLC 25,00
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdhu 28: Fudwu wnwplw b hwunhuwuntd' judybph unwpnbp $-10 , 4-65W 220-240V
<pwybph <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh hwdw
wwwwufuwunn | shwdwwywwnwupluwung | Luhwdwywunwujuwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhuytn UMNLC X
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Lunpjwé
dwutiw
Uwul'(:lwll:hglt:ll;ph Uwutiwlgh /DUmPl{lllltlg Uwutiwygh ;:;nwgwpqwé
qme:l I?n wijuiinudp Jwutuwgh /wnwt U.<q< hw wd/
ntpp hwdwpn tob 9 » hwq. np
“X”/
1 Luyp pun Unp UNC X 10,00
2 Eyndhpu UNLC 13,00
3 Qhuytn UNC -

Cunpywd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdhu 29: Fudwu wnwplw b hwunhuwunid' jwdybph vnwpnbp $-20, 4-65W 220-240V

<pwybiph <pwybiph
wwhwugubtphtu wwhwugubkphu
Uwutwygh
hwiwwywwmwufuwunn | shwdwywunwupluwung | Luhwdwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwibnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpwéd
dwutiwlyhg
Uwul'(:lwll:hg:lliph Uwutiwygh /punnuws Uwutwlygh u;lnwgwpqwé
qpml:l l?n wuywunidp dwutwlgh — U.Cq&h h 8/
ntepp hwdwp ok wnuwug » hwq. npw
“X?)/
1 Luyp pug Unp UNLC X 10,00
2 Eyndhpu UNLC 13,00
3 Qhuytn UNLC -
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quihwpwdhu 30: Fudwu wnwplw § hwunhuwund'  wunbunn (widwtp LED G4 110V :
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 | Luyp pun Unp UNC X
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2 Eyndhpu UNLC X
3 Qhytn UNLC X
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwlygh wnwowplyws
qpwntgpwé qhl
inbink wtiuitinuip Huiutwligh /o g UCE, huq. npuid/
ntepp hwdwpn tob g9 » hwq. np
“X”/
1 Luyp pun Unp UNC X 18,9
2 Eyndhpu UNC -
3 Qhytn UNC -
Cunpywsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
Quithwpwdhu 31: Fudwt wnwpyw £ hwunhuwuntd wuwnbunn jwdwbp LED G4 220V
<pwybph <pwybiph
wwhwugubtpht wwhwugubtpht
Uwutwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Eynuhpu UNLC X
3 Qhytn UNLC X
Cunpqwéd
Uwutwlhgub dwutiw Uwutiw wnwowpljwé
ll:hg énh Uwutiwygh Py llhg ligh A guiny
AptE=gnt wujwunidp puunpyu gh
wmbintpp dwutiwlygh /wnwug UKL, hwq. npud/
hwdwp ughy “X”/
1 Lwype pun dnp UNC 24,86
2 Eyndhpu UNLC X 13,70
3 Qhuytn UNLC -

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:

Quihwpwdht 32: Fudwu wnwpluw § hwunhuwund' nuntunn wdwtp LED G9 110V :
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<pwybph <pwybiph
whwugubpht wwhwugubkphu
Uwutiwlgh “' 2
9 hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pun Unp UNC X
2 Elyndhpu UNLC X
3 Qhwytn UNLC X
Cunpjws
dwutwlhg
Uwul ub Uwutw wnwowplwd
z:wl::ll:gzwbph U wutwlgh /nunpwd llg[:}hh guiny
wuyjwunudp dwutwygh
wbnbtpp hwdwn ohi /wnwug UKL, hwq. npwd/
‘(x"/
1 Luyp pung Unp UNC -
2 Eynuhpu UNC -
3 Qhytn UNLC -
Cunpqwd Jwutiwlhght npnobint hwdwp Yppwndwd swhwuho' ng dh dwutwlhg quwihtu wnwownly sh
utipujwgntiy:
Quihwpwdht 33: Fudwu wnwplw £ hwunhuwuntd® nbnbunn jwdwbp LED G9 220V
<pwybph <pwybiph
Uwul wwhwugubphu wwhwugubphu
wutwgh hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wuywuniudp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Lunpjwé
dwutiwlyhg
Uwul ub Uwutiw wnwowplwd
“‘:w‘:‘lgggm"h U wutiulgh /punpyws quhu punl
1 wuyjwunidp dwutwlygh
wmbnbpp hwidwin tob /wnwug UKL, hwq. npwd/
“XY)/
1 Luyp pun Unp UNC X 20,93
2 Eyndhpu UNLC 22,30
3 Qhuytn UNLC -

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
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Quihwpwdhu 34: Fudwu wnwplyw  hwunhuwunid® wunkunn wdwbp LED E14 110V :

<pwybiph <pwybiph
Uwub wwhwugubphu wwhwugubkphu
¢/ ,:Ju :‘quh hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
wligutinidp hwjwnbip hwjwnbp hwdwnnun ujwpwqpnyentt
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 | Luyp pug dnp UNC X
2 Elyndhpu UNLC X
3 Qhuytn UNLC X
Cunpjws
dwutwyhg
U wutiwyhgut Uwutiw wnwowplwd
qurlllilggwbnh Uwutiwlgh /punpqwd qgi:}hh guiny
inbink whiuitinuip Hwutuligh 1 itig UCE, huig, npuwd/
ntupp hwdwp ok ) » hwq. np
“x"/
1 Luyp pun dnp UNC -
2 Eyndhpu UNC -
3 Qhytn UNC -
Cunpywsd Jwutiwlght npnobint hwdwp Yppwndwd swhwuhy' ng dh dwutwlhg quwjht wnweowply sh
utipujwgntiy:
Qwihwpwdhu 35: Fudwt wnwpyw £ hwunhuwuntd® wbnbunn jwdwbp LED E14 110V :
<pwybph <pwybiph
U wubiw wwhwugubphu wwhwugubphu
¢/c g hnlIL?Sh hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwujuwuniejwu
i o hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 | Luyp pug Unp UNC X
2 Eyndhpu UNLC X
3 Qhytn UNLC X
Lunpjwé
dwutiwyhg
U wutwlyhgub Uwutiw wnwowplwd
. Ehgwénh U wutiulgh /punpyuws igh 1t punl
bt whiduitinuip Suadbwloh | e UCE, hug, R/
nepp hwdwp ok g9 » hwq. np
“XY)/
1 Luyp pun dnp UNC 20,48
2 Eyndhpu UNC X 11,83
3 Qhuytn UNLC -

Cunpqwsd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhs' uuquagnyu ghu:
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“Qunwiubiph dwuht” << opbuph 9-pn hnnwdh hwdwdwjtu' wugnpdnipjwt dwdlybn £ uwhdwuynid
unyu hwjnwpwpnientup hpwwwpwyybiine opdwu hweonpnnn opjwuhg dhtusl 5-pn opwgnigwihu opp ubipwnjuy
puywsd dwlwuwwhwwunywdn:

Cunpwsd dwutwyhgubiph hbin ywjdwuwagpbipp Yupybint Gu unyu hwjnwpwpnipjuwdp uwhdwudwd
wugnpdniejwu dwdlybinh wywpunhg hbwnn:

Pninp swihwpwdhuubiph hwdwp 3 opwgnigwjht opnjw pupwgpnid:

Unyu hwynnwpwpnigjwt hbin juwywsd (pugnighs inbintynieniuttip utnwtwne hwdwp Yupnn bip nhdb)
qunuubiph hwdwlwpgnn' Updhub Uhpnujwupu:

Cbnwfunu' 37410540734:

E[. thnuwin' petguyq@inbox.ru:

Uj| wuhpwdbion nbntynieniuubp'

Muwwnydhpwunnt' NMbnwlwu gnyph gnypwgpdwt b guwhwwndwu gnpdwlwnieiniu MNUY:
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